Econ 102 AA/A/W/_A' TED /{/5—}’/
Summer 2016 ———————

Midterm #2
July 15, 2016
Version #1
Student Name: 1D# Discussion #

You have 75 minutes to answer the exam. The exam contains 10 binary choice questions worth 2
points each, 20 multiple choice questions worth 3 points each, and two problems worth 10 points
each for a total of 100 points.

No cell phones, calculators, or formula sheets are allowed. Cheating will not be tolerated.

Pick the best answer for each question.

If there is an error on the exam or you do not understand something, make a note on your exam
booklet and the issue will be addressed AFTER the examination is complete. No questions
regarding the exam can be addressed while the exam is being administered.

I, , PROMISE TO NEITHER TAKE NOR GIVE HELP
FROM ANYONE DURING THIS EXAM.
e I UNDERSTAND THAT PROVIDING INFORMATION TO ANOTHER STUDENT,
WITH OR WITHOUT INTENT, IS A VIOLATION OF ACADEMIC MISCONDUCT .
e [ALSO UNDERSTAND THAT TAKING INFORMATTON FROM ANOTHER STUDENT,
WITH OR WITHOUT THEIR CONSENT, CONSTITUTES ACADEMIC MISCONDUCT.
e ] UNDERSTAND THAT THE USE OF A CALCULATOR OR CELL PHONE DURING
THE EXAM IS A VIOLATION OF ACADEMIC MISCONDUCT AND WILL RESULT IN
MY GETTING A ZERO ON THIS EXAM.

Signed

Binary Choice (10 @ 2 points each)
Multiple Choice (20 (@ 3 points each)
Problems
Problem 1 (10 points total)
Problem 2 (10 points total)
TOTAL




I. Binary Choice (10 questions at 2 points each)

ﬁwzh)’”‘ﬂ 1. Real GDP increases in Country A from 2015 to 2016. From this information you can conclude
that:
a. Nominal GDP increased from 2015 to 2016.
That this economy produced more goods and services in 2016 than it did in 2015.
ALY
JNJTMC ¥ 2. The CPI rose from 120 in 2015 to 150 in 2016. Joe's nominal income increased from $40,000
%‘?ﬂ & in 2015 to $45,000 in 2016. From this information you can conclude that:
a. Joe's real income increased from 2015 to 2016.
Joe's real income decreased from 2015 to 2016. .
> (1te Lhah =
Dcﬁhﬂmﬂﬁ 3. Initially a country has balanced trade and then it decides to run a trade surplus. Holding
everything else constant, this will lead this country's supply of loanable funds curve to shift to
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Like ﬂu 4. Suppose an economy increases its use of labor while maintaining the same level of technology
5«1 Z and capital. Holding everything else constant we can conclude that:

a. Labor productivity increase§ while capital productivity decreasesy et '
Labor productivity decreased while capital productivity increases. , & i
rf & L |
e ¢ ;
~
, & @)L
W) [Jul6DP | ) o A9K L )
pund GDP= 2o GO [xc~ée7
rJL( 2 hW J 6 ﬂ /)
Ve i ,vdl/)( re Z :
now 60 Vi P 2.60 4 pris’ 17
Vo | 100 300
o e 0 -
100 /00 ;tu??utrlﬂdfffz'&?
/ I ¢
il ITs 200 mfam(«)&a:}m
/" 2 g bt Pt Lfor et
- ] oans WA @) f} ’
@ rcbplhww:mﬁc?;— [ru&

gl 1
3Y 4 73 é

. ,o0f (r00) . soo0 . 200,000 - 100,909 5 30000
MOICT gy, = DL CI) 2 o 5 oo ot

45 000 (760) -~ 4¢goeo0o0 36 voe
/ . el

A Y2 2l

[AY

2016 pweldmc =




Ealy:
ﬁ’emc

5. In the Keynesian model, if government spending decreases and everything else is held
Knouwde

g constant, then the equilibrium level of real GDP will: AE. YAE
HE
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MJ}/ 6. If there is inadequate sp ndmg in the economy and policymakers want to restore the economy
to full employment than policymakers could:

Increase the level of government spending holding everything else constant.
b. Decrease the level of government spending holding everything else constant.

Mediiom i 7. Suppose there is too much spending in an economy relative to the current level of production

& /, Mﬁ'l» in the economy. Based upon the Keynesian Model this suggests that aggregate output will:
/C Increase in response to this spending.

,;J e/ b Decrease in response to this spending. )/ =4
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Zk}é)w /o 8. The consumption function for an economy is given as C = 100 + .75[Y — (T — TR)]. Given this
information and using the simple Keynesian Model presented in class, the tax expenditure

multiplier is equal to: _ o B
tan expendture maliplicr— b =3 o
Deﬁ’”;'l"" 9. Capital productivity is: Cappadd p7> rAuchinly = %{

a. The change in real GDP divided by the change in the number of units of capital.
@Rea.l GDP divided by the number of units of capital.

Mmﬁ”ﬂn 10. An economic recession is:
a. A situation where the short run level of aggregate expenditure is less than the short run level of
production for an economy. ' Junk' an surer
A situation where the unemployment rate is greater than the full employment unemployment
rate.
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II. Multiple Choice (20 questions each worth 3 points for a total of 60 points) q ¢
Use the following Keynesian Model of a closed economy to answer the next two (2) questions. ..-;2-5 :
YT
C is consumer spending, Sp is private saving, NT is net taxes, I is investment spending, G is
government spending, "a" is autonomous spending, and "b" is the marginal propensity to
consume. The following variables are assumed to be constant in this problem: "a", "b", I, G and
NT.
1660 = 984 + 20 1~§f
o Y=C+Sp+NT fooo = 1004+ Sp
= - &% 2D 1-?6
e AE=C+I+G [200= C+ 5C
e C=a+b(Y-NT) lwé’: 13.00-56= l14Y
N-wT Y NT g I G [AE]  sp mpc=AC
94¢0 1000 20 984 50 80 m -4 Aly-NT)
I o 1200 20 1YY 50 80 [n#4 36 mpC = I44-9%T
1500 20 50 80 200
- e’
m PC i L" -1 g

e Lo
LOT3 0/~ 11 Given the above information, which of the following statements is true? . NT]
- a+ §[Y

o rK I.C=200+.8(Y-NT) v~ o
II. When Y = 3000, Sp = 396 holding everything else constant. 984= a +. ¥ (4 )
III. The equilibrium level of output for this economy is 1500. b4 g% at + v
a. Statement I is true. 200 = @ ]
b. Statement II is true. ",—’_’—IT’]
¢. Statement I, II and III are all true statements. l C = SH0h L D
Statements I and II are true statements.

MoT TH 4_7__12. Which of the following statements is true for the economy described in the above table?
JiARD, BY7" 3. When real GDP is equal to 1000 then inventories are increasing.X are ¥ thee AES Y
JomE @ hen real GDP is equal to 1200 then inventories are decreasing. ¥’ 577 AE>Y
weore /L c. When real GDP is equal to 1500 then inventories are stable. X bssHhan
d. When real GDP is greater than 1600 then aggregate expenditure is greate%( than aggregate
production. X

. l_f)’:gdoo =>(C = 00 +. 9/[?6“"“’] =200+, [29%0]
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?3’000 = 2604 + Sp i A
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Nof 72 13. Consider the loanable funds market discussed in class. In recent years Greece has been
hard  forced to reduce its deficit spending so that their national debt would decrease. The loanable
funds model suggests that this will:
a. Lead to higher interest rates As well as higher levels of investment in Greece relative to their
initial levels.
Lead ‘p lower interest rates and higher levels of investment in Greece relative to their initial

evels.
c. Cause the supply of loanable funds curve for Greece to shift to the left relative to the initial
situation. Shig? lrac]it (F mod eflng o Spp= o de

d. Cause the demand for loanable funds curve for Greece to shift to the right relative to the initial

situation. ShF# o tha Jef ¥ z}fmma//uyr» D= s0&

$12,000 in 2010. Both Xerbia and Perturbia have constant populations that do not change over

/eu /c,,][ 14. Real GDP per person in Xerbia is $20,000 in 2010. Real GDP per person in Perturbia is
402 g _time. Suppose the Xerbia's real GDP per person grows at 2.5% a year while Perturbia's real GDP

/9"/" /i per person grows at 5% a year. Using the rule of 70, which of the following statements is true?
po? I. In 2038 real GDP per person in Xerbia will be higher than real GDP per person in
ﬁ.u"/ Perturbia. X see chanrt

II. By 2024 Perturbia's real GDP per person will be greater than Xerbia's real GDP per
person. X 7sf fucestardy
III. By 2066 Perturbia's real GDP per person will exceed Xerbia' real GDP per person by
approximately $112,000. v~

a. Statement [ is true.

b. Statement Il is true.

Statement 111 is true. _* g
d. Statements I and III are true. Z. SV’?‘;O
Foo
xXedic jﬁ-} = A& 6’“"”46["“46 203
e )4 e to dow B, 252
Petwbr’ Be @ 3 b
2010 2024 203% 2652 20646 A/0Y
| ] j -4 -1 §
= — 0 (4 , 000
xbvlﬂi 2—0[,000 46,000 &o,00 f6s
4% 00 9% dac Jq 2,080
admo 246 ‘ ‘
poett i



Ea-f/

)/1"4:" r-
rﬁnlf
eAs)

15. In recent years many government officials around the developed world have advocated
austerity policies for their economies. These officials argue that in these tough economic times
belt-tightening by government, that is, a reduction in deficit spending is essential. According to
the Keynesian model you studied in class this summer:

(@ These austerity policies will shrink the level of equilibrium real GDP in the economy. v
b. These austerity policies will reduce the short-run unemployment rate in the economy. X
c. These austerity policies will insure that the economy returns to full employment and a lower
unemployment rate in the short run. X
d. These austerity policies will cause the planned aggregate expenditure line to shift upwards. X

16. An economy has a typical aggregate production function. You are told that this economy
maintains the same level of labor usage while the amount of capital used in the economy has
increased. You are presenting this information to a group and you want to display the effect of
this change on capital productivity. Which of the following graphs is the appropriate one to use
for your presentation?

X we¥

GRAPH B

Real GDP Real GDP

A

GRAPHC X B s L1 L2 Labor v/ 7
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K1 Capital Kl K2 Capital

a. Graph A
b. Graph B
c, Graph C

a Graph D
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17. Holding everything else constant, the demand for loanable funds curve will:

a. Shift to the right if the government runs a surplus. X 5/’1"}-’5 72 s /C;/f

b. Shift to the left if interest rates increase.X 772, PAsie w:7//oc &4 nrovement 4 riaht-

c. Shift to the right when the country runs a trade deficitANs 5 cepply 0% LI ShYB % ) ¥
Shift to the left if there is a loss of business confidence.

18. Consider the Keynesian model. Holding everything else constant, if autonomous taxes are
increased this will:

a. Shift the planned aggregate expenditure line upwards. X AE Sh %
b. Cause the equilibrium level of real GDP to increase. X / ¢ will b

@Contract the economy. A &
. Reduce the level of unemployment in the economy. X £/ e»y’/ vg mead / & )/ ¢

C?./ow/pn/u—--/

19. Which of the following will not shift the supply of loanable funds curve?
a. People's tastes and preferences for savings chan (;:E due to anticipation of the need for each
individual to fund their own retirement. ‘2 % 4 L~

b. People's life expectancy decreases. v 7/ SAFY Jer”
Wil ShiFt JeF

Capital inflows decrease. i Z)
he government implements a program encouraging investment in solar technology. v +# 54’]£’L L~



WORKSPACE




Use the following information and the loanable funds model to answer the next three (3)

questions:
G = Government Spending = $100 56 = Gcm)—é =/8§0-/0 =LV
T — TR = Taxes — Transfers = $150 ane = QoT#) G5 SO
X =$30 B udp? P4 Cret
IM = $40

I = 500 — 25r where I is investment spending and r is the interest rate recorded in the
equation as a the percentage (so, for example if the interest rate is 5%, then r would be 5

in the equation) KeiM=30-0=—)0 5> Pracle defir. 7
Sp = private saving = 40r — 80 Kl =1m-X= Fo-30=r0c @ CV‘NI%(’W
Jus7’ 20. Examine the above data. Which of the following statements is true?

eadN G DATA 1. This economy is running a trade deficit and therefoyhas positive capital inflows.””
F AFPLY N & 1. This government has positive government savings and a negative budget balance
DeFine 72041 11 This government has a positive budget balan¢e and can therefore be a lender of funds
rather than a borrower of funds/”
a. Statement I is a true statement.
b. Statement I is a true statement.
g, Statements I and II are both true statements.
@ Statements I and III are both true statements.

ffﬂiD,fo"é‘ 21. When this economy is in equilibrium, the equilibrium interest rate is and the
WK equilibrium level of total savings (private savings, government savings, and foreign savings) is
; ® sp= Yor-- &0 Swrac=Spr Je # K/
a, 10°%4 $240 ¢ =S5o Srrec> do, -20
(b)8%; $300 Ki =10 7 = Tored Saninpt n bedorih—
s l = = 8=
& 18%, $300@5ﬁfAL:90(X)‘ 3o S26-285F = 4o, -0 2y 5,.?'_.--2?::
d. 8%; $2404 . = && 65
foral =320 -20 =300 SR0 = r

N6THAED 22, Suppose that the government in this economy decreases its level of government spending.
[IF Yeu Holding everything else constant, you predict that: s G Se?
Mﬂoa&‘m‘/ﬁa. Interest rates will fall” consumption spending will increase; and investment spending will
MIPEL, decrease. X
Jm pdjpﬂzg@lnterest rates will fall; consumption spending will increase; and private saving will decrease.
JTHERWISE C. Interest rates will riség)gonsumption spending will decrease; and private saving will increase.
d. Interest rates will rise; consumption spending will decrease; and investment spending will

increase. 5]? . 3 &-LL,
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EAS 23. Which of the following statements is true?
)I L. In the Keynesian Model it is possible for the economy to be in equilibrium but to be
producing at a level of output that is not the full employment level of output. v
II. In the Loanable Funds Model it is possible to model a recession. A
IIl. In the Keynesian model if the equilibrium output is less than the full employment
output then the unemployment rate is relatively low! I’MX‘ X

Statement I is a true statement.
0. Statement II is a true statement.
c. Statements I and II are both true statements.
d. Statements I and III are both true statements.

Q e prite _,f 24. Suppose a country has an aggregate production function with the typical shape discussed in
F R class. Suppose that technology increases at the same time as the level of capital increases in the
d).u?.: economy. Then, holding everythillg,else constant, relative to their initial values
a. Labor productivity will increase and capital productivity will increase. ¥
b. Labor productivity will be indeterminatée'and capital productivity will increase.
c. Labor productivity will increase;}nd capital productivity will be indeterminate.
. Labor productivity will increase and capital productivity will decrease. X

11
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25. You are provided the following information:

Worle

Country

Population
2015

in

Employment
2015

in | Output (Real
GDP) in 2015

Smallia

20 million

15 million

$200 billion

Leesville

40 million

30 million

$420 billion

@Leesvﬂle has higher GDP per capitafan

SomeE
WoR K

Orperl

READINC—

el

Q6.

From this data you conclude that:

a. Smallia has higher GDP per capit?and Leesville has higher labor productivity.

b. Smallia has higher GDP per capita‘and Leesville has lower labor productivity.

d Smallia has lower labor productivity. ¥~
. Leesville has higher GDP per capita and Smallia has higher labor productivity.

26. Use the information below to answer the next question.

The production function for Realland is described by the following information:
Capital Supply is constant and equal to 100 units of capital
Aggregate Production Function: Y = 20K"?L"? where Y is real GDP, K is the number of
units of capital and L is the number of units of labor
L = 64 units of labor
Suppose that the labor supply increases to 81 units. Then, holding everything else equal, relative
to_the initial situation: sutp 4 v K 7 (af,ﬁ/,gn
o Capital productivity increases by 2 units of capital per unit of output and labor productivity
decreases. v/
b. Capital productivity is indeterminagéand labor productivity increases X
@ Capital productivity increases by 2 units of output per unit of capitaf/and labor productivity
decreases. ¥~
d. Labor productivity d‘gzreases by appr%@i@mr unit of outpuémd capital

productivity increases. S—> L hidm 3 vniTr
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Use the information below to answer the next two questions.

Planned Private saving Net taxes Government purchases _
Real interest rate Investment (2010 dollars) (2010 dollars) (2010 dollars) 9(; S /I' .fg,_
(percent per year) (2010dollars) o e
5 600 200 200 600 -4 —2ovo
6 500 300 200 600 —yf .0
7 400 400 200 600 0
—> 8 300 500 200 600 /"D
g 200 600 200 600 v 272
MNsr 722 27. Suppose we measure the demand for loanable funds as strictly the demand for loanable funds
Vel 24 by private businesses. Then, holding everything else constant, when the real interest rate is 8
percent, then the T =3¢ Spt 5S¢ = 90 ¢ Gou= Lo
l’ATSVG: /®0

@Total quantity of funds supplied is equal to $100 and the budget deficit is $400. e

b. Total quantity of funds supplied is equal to $900)gmd the budget deficit is $400.
c. Total quantity of funds supplied is equal to -$100%and government saving is $200<
d. Total quantity of funds supplied is equal to $1300"and government saving is $400.>(

ﬂg; 1‘7\/ 28. Given the above information and holding everything else constant, the equilibrium interest
rate is
APPLICATION 3 6 o,
b. 7 %.
c. 8 %.

699%.
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Use the information below about a closed economy and the simple Keynesian Model discussed
in class to answer the next two (2) questions.

C=10+.75[Y - (T -TR)]

G =350

T-TR=$40

I=3%20

29. Suppose you are told that for every $100 worth of output that three people are employed.
When the above economy is in equilibrium, how many people are employed?
a. 3 people
b. 3.5 people
@ 6 people
d. 9 people

30. Suppose that the government increases its spending by $20 while at the same time it also
increases net taxes by $12. What is the change in real GDP due to these two changes and holding
everything else constant?
a. $244
b. $8

(©)$44
d. §116

29, yc =AE A Q}p-
Y= lo+. 5[ Y-t0] 50 20 2y §2- 0
arYes 50 736

_ 5D
¥e® T

Yo = 200 = & puqpli ewmpliye
3o Ay = Cf’-;) AG + (7—% AT

! r (-2 N4
- [ — A /

AY = Fee)+ -3 (12)
A = wRG ST
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IT1. Problems (2 problems at 10 points each)
1. (ten points total) Use the following information about an economy to answer this question.

C=20+.5(Y-T)

I=$100

G =$200

T=$160

X-IM=8§0

Aggregate Expenditure: AE=C+1+ G+ (X -IM)

a. (1 point) Examine the given information. What is the level of government saving in this
economy? Show how you found this answer.

56; (waﬁ)’é'—
£ = (/4’0_0) ~200

IS = - 790

—

b. (2 points) Examine the given information. Write an equation for aggregate expenditure as a
funCtiO/% 02 Y.;Shozv your ng.f_ G *» (X-/m)
WC = nor. 5(Yy-~/60) #7000+ 200 ¢ 0

AL = Jps5Y = FE #7100

c. (2 points) Given the above information and your work, find the short run equilibrium in this
economy. Show your work.

/n (j‘u'zl))nkm
Y= AE

Ve - AY0r.5V"
5 Ve = 440
[Ye = 4&0

16



d. (3 points) Suppose that Yfe is equal to 300 for this economy. Suppose the government
engages in fiscal policy in the form of a change in government spending in order to reach Yfe.
First, should the government increase or decrease government spending from its initial level to
reach this goal? And, holding everything else constant, what will the change in government
spending need to be in order to reach this goal?

>/7CC = 300 4 5,4;//’ Should c{((_h.‘apcjwf, %"17 chee
Ve <)

A) = )’fC")/C . Poo-~Y50 = ~/F0 Wt nuedvr decnease

prhy 1507 )
ﬂdzéﬁ,,?j,). and 6P Qﬂx/f?/ﬂ-f) (‘Cﬁ;"?(ﬂy(ya'nmmfzf/ﬂmﬂﬂﬁj

C%0 2 (Fm) (A mgnt ety
- /9 - (=) AG
IAG ="F0 ) ’7W)L9raomo;:ré7 90 |

e. (2 points) Suppose that Yfe is equal to 300 for this economy. Suppose the government
engages in fiscal policy in the form of a change in net taxes in order to reach Yfe. First, should
the government increase or decrease net taxes from their initial level to reach this goal? And,
holding everything else constant, what will the change in net taxes need to be in order to reach
this goal?

ﬁmum/d 7 faxe simee Yo <)e
4)= Q‘ﬂ««w/"’”“’m) (D7)
. (=S AT
i C‘—F‘)

AT = +/80 [ Faxe by 159

17



2. (10 points) Use the loanable funds framework to answer this set of questions.
a. (2 points) The graph below depicts the market for loanable funds, but regrettably it is not well
labeled. So, label the axes, the lines as SIf and DIf where SIf is the supply of loanable funds and

DIf is the demand for loanable funds, the point of equilibrium (LFe, re) where LFe is the
equilibrium amount of loanable funds and re is the equilibrium interest rate.

L=

Der
%) ? Loantds Fends

b. (4 points) Suppose that in (a) the DIf only represents the demand for loanable funds from
investment spending and that the SIf only represents the supply of private savings. Suppose that
now the government runs a surplus. Illustrate the impact of this surplus on the loanable funds
market bW drawing a new graph in the space below that represents the initial situation in (a) as
well as the impact of this government surplus. Label any shift(s) in your graph clearly and
completely; label the new points of equilibrium (LFe', re'). Also, in your graph indicate what the
level of investment spending is initially (I) and what the new level of investment spending is
after the government surplus (I'). In your graph also indicate what the level of private saving is
initially (Sp) and what the new level of private saving is after the government surplus (Sp').

%Jﬂ'r«n‘! a Jar/a/uo = Jg >0
T
i rd s L[ fo™
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c. (4 points) Suppose that in (a) the DIf only represents the demand for loanable funds from
investment spending and that the SIf only represents the supply of private savings. Suppose that
now the economy runs a trade surplus. Illustrate the impact of this trade surplus on the loanable
funds market by drawing a new graph in the space below that represents the initial situation in
(a) as well as the impact of this trade surplus. Label any shift(s) in your graph clearly and
completely; label the new points of equilibrium (LFe', re'). Also, in your graph indicate what the
level of investment spending is initially (I) and what the new level of investment spending is
after the trade surplus (I'). In your graph also indicate what the level of private saving is initially
(Sp) and what the new level of private saving is after the trade surplus (Sp').
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END OF EXAM

19



